50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN 1SMATDIP31
Time: 3 hrs. Max. Marks: 80
ich module.
“‘5“‘ }
& N
1 (06 Marks)
Find the cube root of (1-1i),.. (05 Marks)
Prove that (1 * sp 15 ??Q:S 6) = cos| n—— nej + isi;n(’nlt— - nej . (05 Marks)
1+Sm9"3~10059' N2

(06 Marks)

coplanar (05 Marks)

Find the angle between the vectors L a =51 - ] +k and b 2i - 33 +6k ~ (05 Marks)

.n»(w,

Module-2 7

g

Find the n'" derivative of cosx cos2x cos3x .: % ¥ - (06 Marks)
If y acos(logx) + bsm(log x) prove th”ﬁt X Y. ., +(2n+ 1)W}m + (n +1)y, = 0.(05 Marks)
‘curve r>cos20 =a’ (05 Marks)

(06 Marks)
(05 Marks)

(05 Marks)

(06 Marks)

Evaluatej 61— x? dx. * (05 Marks)

1Ly
Evaluate ”Ixyzdxdydz (05 Marks)
0 09

1of2
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1SMATDIP31
OR
6 a. Obtain the reduction formula for j'sm xdx,n>0. %;; 4 7 (06 Marks)
’ oy @
-~ (05 Marks)

b. Evaluate Ixz(az - xz)idx.
0

1Vx
¢. Evaluate J. I xydydx . (05 Marks)
00

“‘”::«
7 a A partlcle moves along a,¢] =", ¥= 20053t = 2sin 3t where t is the time.

1+ _] +k. (08 Marks)

nstant a, b, such that F (axy+z )1+ (3% —Z)_]+(bXZ —y)k is
08 Marks)

b. Find the value of [ the
irrotational. & %;f

(06 Marks)
. (05 Marks)
at (1,-2,— })m the direction of
~ (05 Marks)

(06 Marks)

(05 Marks)

(05 Marks)

10 (06 Marks)

(05 Marks)
(05 Marks)

* k k k %
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